
 



 

 





 

 

 

 

 



  

 

 

 



 

  

 

 



 

 

 



 

 

 



 

  

 

 



 

 

 

 





 

 

 

 



 









 





 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

  
 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



 

 

 







 

 





 







 



 





 



 







 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



y = 1.9441x0.9255

R² = 0.8858
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y = 0.1614x1.1689

R² = 0.7742
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y = 0.0352x1.3635

R² = 0.5045
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y = 6E 08x2 + 0.1154x + 8466.6

R² = 0.4656
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